December 4, 2017




December 4, 2017

Warm Up: Solve

1) log,x+log,(x—8)=2
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December 4, 2017

Alice
2logx= 4
logx*= 4

Which student solved for x correctly in the fol

Bob
2logx= 4
logx*= 4

x’ =4

x=12

lem?
Carl
2logx= 4
logx*= 4
x* = 10°
x* = 10000
x = 100

\_

\

2logx= 4
David
2logx= 4
logx*= 4
x* = 10°
x’ = 10000
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Which student solved for x correctly in the following problem? 2log3 + log x = log 36

2log3 + logx = log 36
log 9 + log x = log 36
log 9x = log 36
9x =36
Xx=4

Chu
2log3 + logx = log 36

2(log 3 +log x) = log 36

2log 3x = log 36
log 3x* = log36
X = 36

XX = 12

x = A2

Bella
2log3 + logx = log36
log 9 + log x = log 36
log (9 +x) = log 36
9+x = 36
x= 27

Doming
2log3 + logx = log 36

2(log 3 + log x) = log 36

2log 3x = log 36
log 3x)* = log36
o> = 36
XX = 4
X = 2




Ex#1: Solvelad®—7.4" +12 =0
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